
El
ev

at
io

n

 01

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

CANOPY TYPE (ROLL FORM ) - C1

#1

2

NORTH ELEVATION
scale: N.T.S.

1

EAST ELEVATION
scale: N.T.S.

4

SOUTH ELEVATION
scale: N.T.S.

3

WEST ELEVATION
scale: N.T.S. 

 
#2

#3 #4.A #4.B

#4.B

- 11



R
C
P

 02

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

1

RCP
scale: N.T.S.

N

CANOPY TYPE (ROLL FORM ) - C1

#1

#2

#3

#4.A

#4.B

- 11



C
an

op
y 

Ty
pe

 C
1

 03 

Notes:
- Blocking to be provided by others per layout.
- Frame and Flat Pan: Prefinished Sheet Metal. (Select standard color)
- Support arms: Powder Coat (Color to match)
- Rollform Canopy construction to be mechanically fastened.
- Building to be field measured prior to fabrication.
- Four to six weeks lead time for production after field measurements are complete 
and approved submittals.

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

1

PERSPECTIVE ELEVATION
scale: N.T.S.

2

PERSPECTIVE ELEVATION
scale: N.T.S.

 

Canopy Type (Roll Form) - C1 Schedule

Number Projection Length
#1 5'-0" 20'-4"
#2 4'-0" 5'-0"
#3 5'-0" & 1'-10" 15'-4"

#4.A, 4.B 5'-0" 2 Sections @ 23'-2" & 16' 5 1/2"
Total Length @ 39'-7 1/2"

- 11



C
an

op
y 

Ty
pe

 C
1

BLOCKING POINTS FOR BOTTOM CONNECTIONS

 04

244"

16" 74" 64" 16"

60
"

74"

60"

48
"

NO SCUPPER AT THIS POINT
DUE TO DOOR BELOW

BLOCKING POINTS FOR TOP CONNECTIONS
CONTINUOUS BLOCKING AT CANOPY LEVEL
SCUPPER LOCATION AND DIRECTION

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

1

PLAN VIEW

2
P6

2

PLAN VIEW

#1

#2

1
P7

- 11



BLOCKING POINTS FOR BOTTOM CONNECTIONS

 05

60
" 140"

84" 28"28"

184"

12
0"

60"

72"

60
"

27
8"

33
8"

197 1/2"

31
"

72
"

72
"

72
"

31
"

22" 22"

BLOCKING POINTS FOR TOP CONNECTIONS
CONTINUOUS BLOCKING AT CANOPY LEVEL

#4.A

#4.B

#4.A

#4.B

C
an

op
y 

Ty
pe

 C
1

SCUPPER LOCATION AND DIRECTION

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

1

PLAN VIEW

#3

2

PLAN VIEW
#4.A, 4.B

1
P8

1
P10

1P
9

- 11



13'-8" a.f.f.

S
ec

tio
n 

Ty
pe

 C
1

 06

60"

7"

1 1/2" X 1 1/2" 
ALUM. TUBE 
SUPPORT ARM

UPPER WALL 
BRACKET

SADDLE 
BRACKET FRONT GUTTER 

BRACKET

LOWER WALL 
BRACKET

CANOPY HOLE 
@ 36" O.C.

36
 1

/4
"

37
"

3/8" GALVANIZED 
THRU BOLTS12" FLAT INTERLOCKING DECK PAN

LOWER WALL 
BRACKET

UPPER WALL 
BRACKET

1 1/2" X 1 1/2" X 1/8" 
ALUM. TUBE 
SUPPORT ARM

SADDLE 
BRACKET

NICHIHA WALL 
PANEL

1/2" PLYWOOD

FRONT GUTTER 
BRACKET W/ 3/8" 
GALVANIZED 
THRU BOLTS

(2) 3/8" BOLTS 
W/ WASHER 
AND NUT

REFER TO PLAN VIEW FOR 
SCUPPER LOCATION & 
DIRECTION

3/8" GALVANIZED THRU BOLT 
W/ WASHER AND NUT DOUBLE 2" X 10" WOOD 

BLOCKING BY OTHERS

10'-7" a.f.f.

3/8" X 6" LAG SCREW 
W/ CRUSH TUBE

DOUBLE 2" X 10"  
CONTINUOUS WOOD 
BLOCKING BY OTHERS

1/4" X 4" LAG SCREW 
W/ CRUSH TUBE
(2 PER BRACKET)

3/8" X 4" LAG 
SCREW W/ CRUSH 
TUBE @ 36" O.C.

7"

61 1/2"

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

2

SECTION DETAIL

10'-0" a.f.f.

#1

1

SUPPORT ARM PERSPECTIVE

- 11



 07

3/8" GALVANIZED 
THRU BOLTS

12" FLAT INTERLOCKING DECK PAN

STUCCO

1/2" PLYWOOD
FRONT GUTTER 
BRACKET W/ 3/8" 
GALVANIZED 
THRU BOLTS

(2) 3/8" BOLTS 
W/ WASHER 
AND NUT

REFER TO PLAN VIEW FOR 
SCUPPER LOCATION & 
DIRECTION

10'-7" a.f.f.

3/8" X 5" LAG 
SCREW W/ CRUSH 
TUBE @ 36" O.C.

7"

1 1/2" X 1 1/2" X 1/8" 
ALUM. TUBE 
SUPPORT ARM

48"

S
ec

tio
n 

Ty
pe

 C
1

DOUBLE 2" X 10"  
CONTINUOUS WOOD 
BLOCKING BY OTHERS

LOWER WALL 
BRACKET

7"

24
"

1/4" X 5" LAG SCREW 
W/ CRUSH TUBE
(2 PER BRACKET)

3/8" X 5" LAG SCREW 
W/ CRUSH TUBE

23
 1

/4
"

46"

3/8" GALVANIZED THRU BOLT 
W/ WASHER AND NUT

UPPER WALL 
BRACKET

12'-7" a.f.f.

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

1

SECTION DETAIL

10'-0" a.f.f.

#2

- 11



 08

3/8" GALVANIZED 
THRU BOLTS

12" FLAT INTERLOCKING
DECK PAN

LOWER WALL 
BRACKET

STUCCO

1/2" PLYWOOD

FRONT GUTTER 
BRACKET W/ 3/8" 
GALVANIZED 
THRU BOLTS

REFER TO
PLAN VIEW FOR
SCUPPER LOCATION & 
DIRECTION

3/8" X 4" LAG 
SCREW W/ CRUSH 
TUBE @ 36" O.C.

1 1/2" X 1 1/2" X 1/8" 
ALUM. TUBE 
SUPPORT ARM

7"

SADDLE 
BRACKET

60"

36
 1

/4
"

37
"

10'-7" a.f.f.

13'-8" a.f.f.

UPPER WALL 
BRACKET

NICHIHA WALL 
PANEL

DOUBLE 2" X 10"  
CONTINUOUS WOOD 
BLOCKING BY OTHERS

60"

1/4" X 4" LAG SCREW 
W/ CRUSH TUBE, 4 
PER CLIP

DOUBLE 2" X 10" WOOD 
BLOCKING BY OTHERS

3/8" X 6" LAG SCREW W/ 
CRUSH TUBE, 2 PER BRACKET

S
ec

tio
n 

Ty
pe

 C
1

7"

3/8" GALVANIZED THRU BOLT 
W/ WASHER AND NUT

(2) 3/8" BOLTS 
W/ WASHER 
AND NUT

61 1/2"

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

1

SECTION DETAIL
#3

10'-0" a.f.f.

- 11



 09

63"

60"

3/8" GALVANIZED 
THRU BOLTS12" FLAT INTERLOCKING DECK PAN

LOWER WALL 
BRACKET

UPPER WALL 
BRACKET

1 1/2" X 1 1/2" X 1/8" 
ALUM. TUBE 
SUPPORT ARM

SADDLE 
BRACKET 1/2" PLYWOOD

FRONT GUTTER 
BRACKET W/ 3/8" 
GALVANIZED 
THRU BOLTS

(2) 3/8" BOLTS 
W/ WASHER 
AND NUT

REFER TO PLAN VIEW FOR 
SCUPPER LOCATION & 
DIRECTION

3/8" GALVANIZED THRU BOLT 
W/ WASHER AND NUT

DOUBLE 2" X 10" WOOD 
BLOCKING BY OTHERS

3/8" X 5" LAG SCREW 
W/ CRUSH TUBE

DOUBLE 2" X 10"  
CONTINUOUS WOOD 
BLOCKING BY OTHERS

1/4" X 5" LAG SCREW 
W/ CRUSH TUBE, 4 
PER CLIP

3/8" X 5" LAG 
SCREW W/ CRUSH 
TUBE @ 36" O.C.

STUCCO

#4.A

3/8" X 4" HEX BOLT W/  
WASHER AND NUT

36
 1

/4
"

37
"

1 1/2" X 1 1/2" 
SUPPORT ARM 13'-6" 
LONG

S
ec

tio
n 

Ty
pe

 C
1

7"

7"

10'-7" a.f.f.

13'-8" a.f.f.

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

1

SECTION DETAIL
#4.A

10'-0" a.f.f.

- 11



 10

63"

60"

BACK GUTTER BRACKET 
W/ 3/8" GALVANIZED THRU 
BOLTS

12" FLAT INTERLOCKING DECK PAN

LOWER WALL 
BRACKET

UPPER WALL 
BRACKET

1 1/2" X 1 1/2" X 1/8" 
ALUM. TUBE 
SUPPORT ARM

SADDLE 
BRACKET

1/2" PLYWOOD

FRONT GUTTER 
BRACKET W/ 3/8" 
GALVANIZED 
THRU BOLTS

(2) 3/8" BOLTS 
W/ WASHER 
AND NUT

REFER TO PLAN VIEW FOR 
SCUPPER LOCATION & 
DIRECTION

3/8" GALVANIZED THRU BOLT 
W/ WASHER AND NUT

DOUBLE 2" X 10" WOOD 
BLOCKING BY OTHERS

3/8" X 5" LAG SCREW 
W/ CRUSH TUBE

DOUBLE 2" X 10"  
CONTINUOUS WOOD 
BLOCKING BY OTHERS

1/4" X 5" LAG SCREW 
W/ CRUSH TUBE
(2 PER BRACKET)

3/8" X 5" LAG 
SCREW W/ CRUSH 
TUBE @ 36" O.C.

STUCCO

#4.B

36
 1

/4
"

37
"

1 1/2" X 1 1/2" 
SUPPORT ARM 13'-6" 
LONG

S
ec

tio
n 

Ty
pe

 C
1

7"

7"
10'-7" a.f.f.

13'-8" a.f.f.

3/8" X 4" HEX BOLT W/  
WASHER AND NUT

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

1

SECTION DETAIL
#4.B

- 11



C
ol

or
 C

ha
rt

 11

ab
ric
at
io
n

rc
h i
te
ct
ur
al

2
1

0
0

 E
 R

ic
h

m
on

d
 A

ve
n

u
e

Fo
rt

 W
or

th
, 

TX
  7

6
1

0
4

Te
l:

 8
0

0
.9

6
2

.8
0

2
7

Te
l:

 8
1

7
.9

2
6

.7
2

7
0

Fa
x:

 8
1

7
.9

2
6

.7
3

1
1

w
w

w
.a

rc
h

-f
ab

.c
om

JOB No.
5540

Based off Plans Dated
03.02.2016

D
ES

C
R
IP

TI
O

N

SA
LE

SP
ER

SO
N

K
ev

in
 M

cI
nt

os
h

IS
SU

E

09
.2

7.
20

16

R
E-

IS
SU

E

N
/A

D
R
AW

N
 B

Y

S
un

ny
/K

en
t

PR
O

JE
C
T

S
ta

rb
uc

ks
85

06
 S

pr
in

g 
C
yp

re
ss

 R
d.

 
S
pr

in
g,

 T
X
 7

73
79

TH
IS

 D
R
A
W

IN
G

 I
S
 T

H
E 

PR
O

PE
R
TY

 O
F 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

, 
IN

C
. 

O
F 

FO
R
T 

W
O

R
TH

, 
TE

X
A
S
 A

N
D

 A
LL

 R
IG

H
TS

 T
O

 I
TS

 R
EP

R
O

D
U

C
TI

O
N

 A
N

D
 D

IS
PL

A
Y 

A
R
E 

R
ES

ER
V
ED

 B
Y 

A
R
C
H

IT
EC

TU
R
A
L 

FA
B
R
IC

A
TI

O
N

C
lie

nt

Ar
ch

ite
ct

PR
O

JE
C
T 

M
AN

AG
ER

Te
re

sa
 C

of
fm

an
Te

re
sa

c@
ar

ch
-f

ab
.c

om

- 11


